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Question 1

Work out.

-A+5

2°4x25 = a

Question 2

Simplify.

@ ) . o

(b) 4x3y X 5x2y

5 2
W e Y

Question 3

Simplify.
(2’

1
2

Question 4

Simplify.

(a) om0
]

(b) 5x3—3x3

3%3

=2

(1]

(1]

(2]

(1]

(2]
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Question 5

(a) Write 573 as a fraction.

J .

3

(25

(b) Write 0.004 56 in standard form.

4.56 xto",’

Question 6

Simplify.
36y5 - 4y2

Cigﬁ

Question 7
1
T

Simplify (l6p'6) )
4

2p

Question 8
Simplify.

(Ll) X3y4>( x5y3

2y

®) @Bp*m’)

e 5
2dp ™

(1]
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Question 9

Simplify.
&\
[i5m) g
' e
Oe
45{4
Question 10
Simplify. [2]
6uw3 x 4uw®
.‘{Auau.)3
Question 11
g1F=3
Find the value of x. (1]
A
3 =3
Are = |
2c 2 L
4
Question 12
Simplify.
(a) 12x12+3x3 [2]
4 )eq
1
(b) (256y*) 8 (2]
32
2y
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Question 13
(a) Simplify

( i ) '\.(), l

(i) m*x m?,

1

™

i) (895 .
2

2P

Py

(b) 243* = 3

Find the value ofx.
S5x 2
3 =25
5%=2 o
Question 1 Cantic

(a) Simplify x®+ x2.

6
Se

(b) Simplify (=)'

2
P/

3

W=

Question 2

(@) @=p*

Find the value of p.

2\2: P4
g 4
[:134=?3
E-] Q 23

(b) Simplify 1 -

(1]

(2]

(2]

(1]

(2]

(3]
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Question 3

Calculate

vie | (@)% 247

1.3 i 52

Question 4

(a) Simplify (3125¢125)°,
a5
5+

(b) Find the value of p when 3" = E—Q

p= -2

(c) Find the value of w when x7>+ x

F2—-w0 =8
o= &4
Question 5
Simplify.
23 x xty
2 %434
Question 6

(a) 3= 4/3°

Find the value of'x.

X—:i
A

(b) Simplify (32y"°)°.

2,
5 | S 6
C2°9®) = 2y

W —

h
<y

sf, [1]

(1]

2]
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Question 7

(a) Simplify (64¢2) 2.

—(

T -

ord |0

(b) 57+ 5°=p?

Find p

1
5

Question 8

3
Write (27x'2)* in its simplest form.

8304

Question 9

o ()

Find the value of p and the value of g.

P
- ) BT

3 4 4
(b) 5 +5 =kx5

Find the value of k.
5+ 1=k
kg

Question 10

1
Simplify (256w>¢)*
¢4

4 co
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(2]

(2]

(2]

(2]
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Question 11

Find the values of m and n.

(@) 2=0.125
™ 125
G —s
2"’: I .-L =2
< 2?
Mma>-3
4n 2n
)2 " x2 =512
&n N
2 -2
6(1 = c(
n- %
Question 1 2
27) ?
Find the value of [?] .

Give your answer as an exact fraction.

vy _4
OIS

Question 2
(a) Find m when 4" x 42= 4,
™m 2 (2
4 =4
Mmeda (2
=D
(b) Find p when 67+65= /6.
p-s Y2
(S =6
52
P52 7
Question 3 P - Sé
Simplify
(a) 32x% + 8x*,
a4 A
2¢e
2 2
> 202

) [ﬁ).: - X

64

(&
&l

(2]

(2]

(1]

(1]

(2]

(2]
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Question 4
Simplify the following.
33
(@) (3x)
2851

(b) ( 125_\-“)§

4
29 >e

Question 5

Find the value of n in the following equations.

@)2= 1024
(1= O
Question 6
Simplify
1
16 16 )2
@ [81 !
'Y
A o
q
Question 7
Simplify

2

47\075 g 3
(@) (L) 3 L a1
16 9

>

.
° g

(2]

(2]

(2]
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Question 8

8 2 -2 n
Write 2 x 8 x 4 inthe form?2.

o2 ~2
Q%x(:zsj =@
-4
.22 2% x2 . 0®

Question 9

2
3

Simplify (27x°) % .

339/.5 2
Caso) = Qe

Question 10

1
() Simplify (27x%) 3.

(3 3 96—6 \/3 2

~ %2

() (512) 3 =27 Find p.

)
[Qq) ? >-7-P
p = -6
Question 11

(a) +/32=2”. Find the value of p.

. P

Q =2
p= 2

3
(b) |8 =127 Find the value of g.

o Lv
%=~
Question 12
Simplify 2 oilBs B
FH &
4
%

(2]

(2]

(2]

(2]

(2]

2]
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Question 1

Simplify.
3
(a) 812
2
3,

2 4

(b) X3+x73
Sy — C~ %30

Question 2

Pl
@ 2=

Find the value of r.

® 3¥=%3

Find the value of 7.
Bt: 3\/5
= L
& 5

Question 3

Work out.

(@) 125%
2
(570 ° 25

(1]

(1]

(1]
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Question 4

(a) Simplify. 3
(16x")*

27
e»‘i%ke_) 29 s

3 %,
(b) 2p>= 54 ) 2 a7
: 2 3
Find the value of p. (PVQ‘) ~ 3
Yo
P -3
p 9
Question 5
Simplify.
iy 3 lé )
i)-* 2 .
((112 a\ﬁ«) 0"4
Question 6
Work out.
(a) £
20
£
b )
w
P2
3 3/4
(© B1m°F (84 W)?_) = 2% o
Question 7
Simplify. (36v'6)%
63(,?

(2]

(2]

(2]

(1]
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Question 8

Simplify. . g l N 2]
a3 -
( Y) =5
Question 9
Simplify.
(32x10)5 2]
S5E
Question 1

Find the value of

@ (V3)°, 1]
625
(b) (%)T. [1]
e
(_‘57{') = 9
Question 2

(a) Find the value of

o ("
-
o
(i) (-8)". 3, 1]
(=27) 7= 4

/ 0.4
(b) Use a calculator to find the decimal valueof Y. 29-3x3277

(. 3F4

(1]
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Question 3

Simplify the following.

@ (4pa* ¥

Question 4

7 6 6
ax10 +bx10 =¢x 10

Find ¢ in terms of @ and b.
Give your answer in its simplest form.

o+ b:&

Question 5

Find » in terms of x.
N4

Bxx@) 23
228

Question 6

Simplify

5
85

oL

(2]

(2]

(2]

(2]
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Question 7

Find the value of n in each of the following statements.

@ 32'=1 [1]
N\=0
b 32-=2 [1]
M= |
= ]/5
© 32-8 []
M= 3
n=2 .b_
5
Question 8
Simplify
2 % I§
(a) [—j - 2]
27 q
1
(b) [LJ 2 2 [2]
4 ) *
Question 9

Find the exact value of

(@) 372 | (1]

—

C‘(

1

®) (1Iy. A4 2]
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